Trade off for D_- and V-values
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e Support load assumed to be lower than 1000 kg
e Adiagram if drawn using actual certified data can be included in a drivers manual
* If so, requirements representing a point in the shadowed area is acceptable
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Trade-Off D_vs V
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1) Any combination of D, and V falling above
the "LIMIT" line is infeasible.

2) At a given static support load "S" any
combination of Dc and V falling below the
corresponding line is feasible.
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- - - - 5=1250kg

$=1500kg
- - - - $=1750kg

5=2000kg
- - - - §=2250kg

5=2500kg
- - - - 5=2750kg
$=3000kg
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Trade-Off D vs V

s=0kg

$=500kg offset-2.45 kN

Vmax (S=0) = V certified + 0,5 x S certified x g / 1000

(S, Dc, V) certified
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———-5=1000kg offset-4.91kN

$=1500kg offset-7.36 kN

$=2000kg offset-9.81 kN

- §=2500kg offset -12.26 kN
1) Any combination of D, and V falling above the "LIMIT" line
is infeasible. 5=3000kg offset-14.72 kN
5=3500kg offset -17.16 kN
~ — 5=4000kg offset-19.62 kN
....... " (S=0)"
S required offset
-0,5x S required x g / 1000
2) At a given static support load "S" any combination of Dc
and V falling below the corresponding line is feasible.
- D certified
e
®
130 140 150 160 170

Dc [kN]

180

200



	R55_07_13_Trade_off_diagram_1
	Trade-Off_bild

